3 (Sem-6/CBCS) ECO HE 2

2025

ECONOMICS
( Honours Elective )
Paper : ECO-HE-6026
( International Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
Tt AR Aot Seg fo

(a) Why do countries engage in mternahonal
trade?

mwa@ﬂwﬁm@ﬁ»ﬂwﬁvav

(b) Who said that, “International trade is
but a special case of inter-local or inter-
regional trade”? ‘

‘oA e tz0z BTN A AW
A O Rom 117 % IR @ ReT 2
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@

(e)

@
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(2)

What key assumption does the
Ricardian model make about labour
as a factor of production?

RRIER T© T IRT oA W =1=u
SRYECCH 2

What is factor endowment?
TR 2pel [ 2

The deman& for foreign exchange in a
country arises from import/export of

goods. ‘
( Choose the correct answer )

ol qAS AT TN OIRW T-EAN

i /e T T =

( % CeTo! A S )

What is protectionism?
AFHRW 7

State ‘any one cause of fluctuation in
foreign exchange rate.

e Rt T RIS I R @I o1
FRafr ‘

In which year was the Bretton Woods
system established? ,

£ Syr g @ RIS m 1 ¢ 2

'( Continued )

— .

(i)

0

(3)

Give any one argument in favour of
fixed foreign exchange rate.:

R e R 2 e <1 3 o

State one objective of international
macroeconomic policy.

RGN AR WA o1 S e
I

2. Answer the following questions : 2x5=10
oS Al PR e o
(@) What does the factor immobility refer in

(b)

(c)

(@)
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regards to international trade?

SRAB AT 2P TR e
oW ?

What is Leontief paradox?

farefbes et & 2 |

Write two featﬁres"of Gold Standard.
OTIR TSR o1 38 it |

Write two arguments in favour of fiee
trade.

WWW@I{%WWI
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(4)

: (e) Write two causes of the Global Financial
Crisis, 2008.

QookWﬁ‘ﬂﬂﬂﬁfﬁ@ﬂW@lW‘TﬁWl

3. Answer any four of the following questions :
5x4=20

wwﬁéﬁtﬁnwm:

(a) State the importance of International
Economics as a branch of Economics.

w@mmwmﬂmmwﬁﬁ

@y foran )
(b) What is tariff? Explain the different
~ types of tariff. 1+4=5
% 37w Afea SRR TR0 0 |

(¢ What will happen to the Heckscher-
Ohlin theorem if factor intensity
reversal takes place? Explain.

I T SFer A =W, (W@ - B
SR & 237 I A
(d) Describe five differences between
" " international and internal trade.

B e WeRR qReR bl ol
FfqMFM
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(e)
)

(5)

Explain the different stages of the
product cycle theory of international
trade.

SRR TR %wr»{ & m%w R
*RIFETR T

What is financial globahzatmn? DlSCl.lSS

its benefits and nsks ) - 1+4=5

wﬁ%ﬁﬁmﬁvmaﬁmwﬁw
ST 341 |

4. Answer any four of the following questions :

' WW@MWWﬁﬂ'

(@)

(b)

()

A25/871

Explain Ricardian theory of comparatwe
cost advantage.

ReTc6rR germere < vRew ot o 4 |

Explain the Heckscher-Ohlin theorem

of international trade through price .
criterion.

R TR m”i@a e Wﬁ»‘r T
e (price criterion) &I T Lol

Discuss the technologlcal gap model of
international trade. :

ST 9 |
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@

(e)

g
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(6)

Distinguish between fixed and flexible

‘exchange rates. Explain how the

equilibrium rate of exchange is
determined under flexible exchange

rate system. : 4+6=10

%Wﬂﬁaﬁﬁwmwm@ﬁ«fa
41 | T R 29 IEE GRS ST
ﬁ«qwm,wwu

Analyze the effects of an 1mport tanff
under partial equilibrium analysis.
P SR IRES TR B e[
ﬁmwwn

Explain the rationale of a protectionist
commercial policy in  developing

countries.

WWWn

Explain the European Monetary System
and its role in stabilizing exchange rate.
How did it lead to the creation of
the Euro? Evaluate its success and

challenges. ' 2+3+2+3=10

[T . AN I TN GF R @S
Ritwm v B FI° T IR@E? WR
WMW%W?WW

SIF ASTRIPHR J0rA 9 |

(7))

(h) State the main features of multinational
enterprises. Explain the role of multi-
national enterprises in international
trade. 5+5=10

IEE 2ffS 3"*"‘1?3 T QFER I 01
g e @ At g
0 T

* % %
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